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Printf.printf "CAIlICBIE %" "HFR";;

let rec fact = function
0 > 1
| n when n > 0 =)
n ¥ fact (n - 1)
| _ => failwith "error”;;
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sY¢Concurrent Programming
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sY¢Concurrent Programming

open Event

type 'a cell = { Oy 22 —REFEH Cell”
getCh : 'a Dir_chan. in_cnanne;
putCh : 'a Dir_chan.out_channel }

let get { getCh = getCh } = sync (Dir_chan.receive getCh)

let put { putCh = putCh } x = sync (Dir_chan.send putCh x)
let cell x =

let (getln, getOut) = Dir_chan.new_channel () in
let (putln, putOut) = Dir_chan.new_channel () in
let rec loop x = select [
wrap (Dir_chan.send getOut x) (fun () -> loop Xx);
wrap (Dir_chan.receive putlin) loop

]
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Any Question?
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